W IR<Tawr
QUESTION BOOKLET

|
|
|

(|

RUSES RTINS
[ / Number of
uP‘{'\gﬂs in Booklet :

)/ Maximt;n{\
Marks : 400

aased il

WY / Time - 7
2 U’E / Hours

TR / Instructions

I 99199 ) 6 &0 A 9E, p awd) ge
: e, § AR yRuE Al L ane
I UTE B WA H A gRIRaa w) By e
- ¥ TRa® ol ol e, Sun uww @) ER RN ¥
: NS IR ERIR I |
—@gﬁtﬂ%wwmﬁw}m ol Wl g we W gy
AN

Rl o Freimfty 2 & e A, onaell a3 v RUSSO RS R R
STCTTS F T3 b A0 T i @ o o gom )
ST | R W B i i w1 3 e Rl o < onal
T framt T R s wed R sraelt worard gy
Bct’org attempting the question paper. kindly check your
guesuon Booklet(QB) and O.M.R. Answer Sheet and cnsure
at:
- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect. the candidate should
immediately report the marer to the Invigilater for replacement
of Question Booklet(QB) and OMR Answer Sheet. No claim
objection in this regard will be entertained after five minutes of
start of examination. candidate will be liable for the same.
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MIND MAP = Eduat)on
1 étnéa;aarﬁqwam?ﬁﬁq: I Find the missing term in the given series:
7.14,2,56, 112, 224 7.14,7,56, 112, 224
(A) 31 (B) 3s (A) 31 (B) 35
e 28 (D) 29 (C) 28 (D) 29
(E) i ww (E)  Question not attempted
2 @ v e ¥ e TR g Rk 2 Find the wrong term in the given series:
11,22, 44 88, 110, 352 11,22, 44, 88, 110, 352
LA) 110 (B) 88 (A) 110 (B) 88
(©) 44 (D) 352 (C) 44 (D) 352
(B)  igefe v (E) Question not attempted
3 e N W R W SR 3 Find the next term in the series:
12,12, 18, 36, 90, ? 12, 12, 18, 36, 90, ?
(2) 290 (B) 300 (A) 290 (B) 300
() 280 270 (C) 280 (D) 270
(E) rgaia wa Ll (E) Question not attempted
4 A g simen ¥ swren w2 v SR 4  Find the next term in the given series:
1.4.9, 16, 25, 36, 1,4,9, 16, 25,36,
(3) 81 (B) 48 (A) 81 (B) 48
) o4 ) 49 (C) 64 (D) 49
(E) gaRa (E) Question not attempted
5 Wﬁ&mmwaﬁg@mﬁﬁﬁwaﬂwm S Which of the following term follows the trend in the given
? series?
Z XW, TSR, NMLK, ? Z, XW, TSR, NMLK, ?
(A) EFDCB LBY FEDCB (A) EFDCB (B) FEDCB
(C) EDCBA (D) BCEDF (C) EDCBA (D) BCEDF
(E) uid wa (E)  Question not attempted
6 sdae T Ll < I s 6  Find the missing term in the series:
MFSV, OJYD, ?, SRKT, UVQB MFSV, OJYD, ?, SRKT, UVQB
L{A)r QNEL (B) QMFO (A) QNEL (B) QMFO
(C) QNDL (D) POCL (C) QNDL (D) POCL
(E) uidwx (E)  Question not attempted
7 SEen ¥ 3men 92 3 iR - 7  Find the next term in the series:
PH, ME, JB, GY, ? PH, ME, JB, GY, ?
(A) DW (B) Az | (A) DW (B) Az
i< DV (D) Ccv (©) bV (D) cv
(E) qufa@ws (E)  Question not attempted
s an s i 3 T 8  What should come next in the given series?
BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ? BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, »
(A) EAUTI - (B) TAFIU (A) EAUTI (B) TAFIU
A4€r AUTIF / (D) UTAIF (C) AUTIF (D) UTAIF >
(E) ¥qafayx (E)  Question not attempted :
9 &ni siwen # 30T 9 wTa i 9  Find the next term in the given series:
BZM, DXN, FVO, HTP, ? BZM, DXN, FVO, HTP, ?
(A) JQS (B) RJQ (2) JQs (B) RIQ
(C) JRP ) JRQ (C) IRP D) JR
(E) qafa 9a A0 (E) Question not anemptod( N 21
10 farwm 1 973 fifeg . 10 Choose the ‘odd’ one out:
QT, LO, SP, CF QT, LO, SP, CF
i SP (B) CF (A) sp (B) CF
(C) QT (D) LO (€) Qr (D) Lo
(E) qwt@ug (E)  Question not attempted 2
11 st sl o @7 w1 wraur s  saimordai | 11 Which provision of the RTI Act explains about transfer of
o e 87 applications?
(A) 9ra7(s) (B) wmus(1) (A) Section 7(5) (B) Section 8(1)
:8 am 5(3)! . (D) €m6(3) :g)) Section 5(3) (D) Section 6(3)
“35" = Question not attempted AA
AABL] § % 2 [ Contd...

48 ACE Scanner

Scanner



of

e

You}ubq!%lﬂghm =S Miwd Map
12 g sfeww aifufm, 2005 @ s ven v, 12 The Right to Information Act, 2005 was cnacted on:-
(A) 2 FFAT2005H By 15 I 2005 B (A) 2 October 2005 (B) 15 June 2005
(C) 22372005 H (D) 22 @M 2005 (C) 22 June 2005 (D) 22 July 2005
(E) xS L (I)  Question not attempted
3 * g ﬂﬁmmmﬁwﬂ TRl % & 98 | 13 Which of the following folk deities is worshipped s
‘1?3 ) “Ramsa-Pir” by the muslims?
AT TS (B) RO N . .
Nt (A) Ramdevji (B) Devnarayanji
(E) o (D) et (C)  Gogaji () Mallinathji
®) (E) Question not attcmpted
1 33:1 ::'mﬁ ‘ [:lﬁ TRr T, e, wa, e 14 Name the Khyal which is a beautiful fusion of contemporary
(A) %ﬁ? - (B) 3 news, poetry, music, songs and dance.
IS (A) Kanhaiya Khyal (B) Shckhawati Khyal
ey & ' (D) VA E -
(C) Hela Khyal (D) Jaipuri Khyal
(E) HgaRawa \
15 39 YR ‘ST FATHER T aeT Ry T s & (E) Question not attcmpted
o[ F1 Yfeffie e ar 2 15 Name the famous ‘Swaang’ artist who has represented
e ; s Rajasthan in Bharat Utsav ?
(A) a fﬁd’t (B) mirdt et (A) Mangilal Mistri (B) Gopi Kishan Bhatt
© ST | (D) =W (C) Janki Lal Bhand (D) Lachhiram
(E) At (E) Question not attempted
16 T FATEHR Hfictrer AR F1 gy &:- 16  Shrilal Joshi, a phad artist belongs to :
A) IE=F 4By ieErer (A) Churu (B) Bhilwara
EC)) B‘?ﬁé (D) aqg(g a (C) Sikar (D) Jaipur
(E) m“ (E) Question not attempted
- ] . 17 Who among the following wrote the ‘Vamsha Bhaskar’, a
17 fFafafea 3 @ o 9 @t amn Fhoem “aw yre foran four volume history?
ar? (A) Gobind Gangadhar Pandey
(A) Tife= TimraR gie (B) =TT T (B) Dashora Durlabh Ram
Gy TR e (D) R AR (C) Suryamal Mishran
b (D) Kaviraj Shyamaldas
(E) Faf@ wvx ;
2k (E) Question not attempted
18 'ngqm FHT TSI & AG %I 14 Fd15Y 18 Name the author of * Annals and Antiquities of Rajasthan’.
(A) ﬁkﬂ_ 3 (B) ST Hfad (A) James Prinscp (B)  Alexander Cunningham
(C) FHAIWI= (D) g R gg gol. James Tod (D) James Skinner
(E) aqaftaga uestion not attcmpted
19 e 3 awm via £ aaed § 297 gy iR Rya 22 19 “f,‘hsi";‘::?mple is situated at the foothills in Rewasa village
(A) T B e DAy
© Tetee (D) e (@) Mombei o D@ K Shyangi
eenmata
(E) sqaf@ws (E)  Question not attempted
20 I waia Haen Frafafaa & @ fea qum &1 fer 27 | 20 The Aravalli mountain range is a part of which of the
(P ¥ @ gad 393 famea ) following landmasses? (Choose the most appropriate option
(A) e am (B) S:::' (f'l"\o)m b;!ow:
(C) et D ofi imalayan region  (B) Purvanchals
(C) Angaraland (D) Gond
(E) #gAhEaga (E) Questio ondwana land
n not attempted
21 Frafafea § @ A1 0w, e sefeaes S aw s | 21 Which .
SR one of the following acts as a water divide i
\/:"Lt’ (= # @ gaa g5 ﬁm*;?) mjﬂl!hln? (Choose the most npproprialca :;)m:;.drcmz
FTEA (B) 912 clow)
() fomem (D) g oz (8) pravall (B) Eastern Ghats
(E 3!35“13 94 - yas D) w 3
? ’ (E) Question not unempted( y e Ohaie
22 FFaIfaase, welisf el fiaA d, quab awa | 22 Navneet told Preet, *
. - L. . ‘Though |
i 2’ s %1 e @ Fn daa &7 mother, you are ot my sister " How is L Ener Of your
(A) =9 (B) wdran Navneet? Preet related 10
© = —or” (© Sier (B Nephew
(E) 3 94 (E) ()U‘llkln — rother
ttempted
AAS1 | $
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23 ﬁqﬁmﬁﬁmmmﬁmmﬁawaﬁ‘{n#ﬂ? | 23 Which of the following figures will complete the given

figure matrix?

— (1

H B ? |mO

b [Sop 5

(A) & - ‘ (A) p (B)
]

© d = % © (D) ’ %

(E) i@ vy (E) Qucstion not attempted
24 3 ITHfA IR 9 & v g e SRy @ 24 Select the figure which would continue the same series as

/\ OO ?,‘ blA QD?

» 1O o | O @ [ ® ()
CHI@) o [[] o [O o (]

(E) Irgefass (E)  Question not attempted
25 ﬁqﬁmiammw@ﬁa@maﬁmw

25 Which of the following figures continue the given series?
S e gl pdi= o
(A) J (B) q (A) J (B) rl
(©) g ) LI ©) L* (D) t_r 3

(E) aqaﬁasm (E) Question not attempted
26 Fefafiga et § 3 5@ AT T HE S & = 26  Seclect the figure from the following options which will
=t by Huft: complete the given series:

AP 7 AV (AR [A]Y)

N

o)
c Q 3 Q -
@ | > (B) [> (A) [} (8) l>
Q Cc Q C
© <] P <]l (©) <] ) @
(E) g ua ‘ (E)  Question not attempted
AASL) ¢ 4 | Contd...
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27 ﬁqﬁf@aaammmaﬁmmawwm;
AlOQ A
A ?
= O
a [®
(A) (B)
A ,
a
a
LA R © |
(E) qoRa
28 Refcifaa ¥ @ 97 € sty R
—~ el N[ x
(a) (b) (c) {d) (e)
(A) e @B) c
©) b By d
(E) Jigai@ "
29 fawmEr ST Hifae |
N
(a) (b) (c) (d)
*) ¢ B) d
©) a D) b
(E) Iafa T
30 R & srEfa () ' 7o (M M) S 5mT iR
M
y gdo
(X) M’
AT \<' (8) /<‘
© >/ (D) \<
(E) gafaux

$

0]

58

27

28

29

30

Which of the following figures will complete the given

figure series?

AlOQ A
A ?
O O
A [=]
m] B
(A) (B) A
D A
D
© & (D) -
(E) Question not attempted
Which of the following figure is the odd one out?
Vil IAN)
(a) (b) (9 (d) (e)
A) e ®B) c
© b D) d
(E) Question not attempted
Choose the odd one out.
U U
(a) (b) (c) (d)
(A) ¢ ®B) d
© a D) b
(E) Question not attempted

Choose the correct mirror (M M) image of the figure(X)

given below:

z

(A)

©)

(E)

X
pd

M
Mirror
M’
o [ <
®) \<

Question not attempted
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31 ﬁw%%aﬁ%mmwﬁanéa@ﬁ(mﬁmaa
sfadr
~[K o[R
S % P %
(E) gafaws
32 ﬁn%ﬁaaﬁ@raﬁqa‘m@%ﬁa(m%mg@ﬁ?
?
(X)
(A) B
© D)
(E) saRasx
33 m%ﬁwé&wﬁmfﬁzﬁa@aﬁwwﬁ
SfawT F1 TR o T
(A) IrdTchiRfemn (B) fxadofeam
(C) &I (D) IE3 Rfsaw
(E) qaf@wx
34 ﬁql%lf‘aaﬁ&damwm&nﬁ%?(ﬁqﬁﬁm
I3 e )
(A) @3 (B) &
(C) ZIwEE LB I
(E) aRaya
3s qﬁﬁéﬁ;mwﬁmﬁm&ﬁanimhﬁ@
FHHAN & 3 Fel e 2:- (Pt 3 @ e 3oy e )
(A) dmfirafx (B) IfFal
() ey wfada TR
® wdam
AAS1] ¢

31

32

3s

Which one of the following figures is the correct water
image of the given figure(X)?

wK e[
(C);K (D);K

(E) Question not attempted

Which of the following figures will complete the pattern in
figure(X)?

?

(x)

a) (B)

©) (D) “

(E) Question not attempted

In which stadium of India was the statue of the great cricket
player Sachin Tendulkar unveiled?

(A) Arun Jaitley Stadium (B) Narendra Modi Stadium
(C) Eden Garden (D) Wankhede Stadium

(E) Question not attempted

Which of the following is NOT an infectious disease”
(Choose the most appropriate option from below)
(A) Tuberculosis (B) Cholera
(C) Typhoid (D) Cancer
(E)  Question not attempted
The distribution of the biological potential of the land which
can ultimately lead to desent like condition is termed Js -
(Choose the most appropriate option from below)
(A) Loss of land (B) Biological loss
(C) Climate change (D) Desertification
(E) Question not attempted
| Contd...
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6 fardrearay o

3 waiea ufrad Y qaer & fore Frafefias 3 3 fag yrg 3y
g3 f e &2

LAy T (B) Ut
(C) wEmH (D) wdeaTdt
(E) Faha wx

37 mmwmmmmmmﬁqﬁ
mwgm_ﬁwgi)

LK) e
(B) 3= AR ¥ T& AN
(C) T
(D) TRFy= AT
(E) i@ s
38 3 R THATA 1AM e SR w71, 2020 F ot simrer sk
Ffewm F st TFa™ wgarm
(A) =0 wAB)  EEt
(C) A (D) ar
(E) IqERaww
39 1984 % NaATariiE gde & i Uo7 o
AA) TR (B) IWES
(€ TSEw (D) IWWRY
(E) Jgafaws

40 fFrafafas ¥ 3 5 et 059 3 o & =t e T T
T M 1 Aferr 87 (Frr & & e 39 forshea )

) @ (B) geEwEt
(© wam =t (D) Tm=E
(E) Iqaf@w=

41 vE 9Rd d@fam S yaewt Rfvs Ao § s g
Tafarad 6w g
(A) ft@E g
(B) =t Fum s

© W farl TR s
(D) TR IR
(E) SafEwx

42 Rd F T9H TYfa B A2 .
(A) Eifiga sieea Z
(B) UEH JeeTy WTE 9o
(C) & FHeA™ AR
\_wrz'r.ui;g:a Z
(E) afE@yx

43 G @ Y 19 B @A A5 FETd I ot

il

&
£

Ay 9 feaiat 1946 Fi (B) |9=ﬁi§t|9462ﬁ
(C) 9 daT 1946 F (D) 19 fEgaT 1946 FY
(E) Faf@wx

4 3R ¥ st s g2 e ST Sfva e R A
T GuTEaT YTa9H F ded Fiar g e (e F @ s
¥ fawed ) )

(A) “wguraaT § $i 1w Fiars F wego fHu ot s o
A T g 21

LBy e, 3 et s sfufam, 2005 ¥ Ted SR

A FFT FH VAT & A

(C) ¥, 77 ‘smdAend Al a1 3u% avd & fram &
Tea foeht oft siferd i ot +ft wrdard o e & &

(D) &, 38 @rp Al @M

(E) rgafa v

AAS1) ¢ =

=
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40

41

42

43

44

Which of the following terms is used to explain the
undesirable change in the physical, chemical or biological
charactcristics of natural environment?

(A) Pollution (B) Quality

(C) Epidemics (D) Pandemic

(E) Question not attempted

The “State Disaster Management Authority” is headed by:-
(Choose the most appropriate option from below)

(A) Chief Minister

(B) Chief Justice of High Court

(C) Governor

(D) Chief Secretary of the State

(E) Question not attempted

Identify the name of the super cyclone that caused extreme
damage to West Bengal and Odisha in May, 2020.

(A) Katarina (B) Fani

(C) Amphan (D) Rita

(E) Question not attempted

The state associated with gas/chemical accident in 1984
was:-

(A) Madhya Pradesh (B) Uttarakhand

(C) Rajasthan (D) Uttar Pradesh

(E) Question not attempted

Who among the following is empowered to form a new state
by separation of territory from any state? (Choose the most
appropriate option from below)

(A) Parliament (B) Chief Minister

(C) Prime Minister (D) Supreme Court

(E) Question not attempted

The original Indian Constitution was handwritten in a
flowing italic style by:-

(A) B.N.Rao

(B) Dr. K.M. Munshi

(C) Prem Bihari Narayan Raizada

(D) H.V.R lyengar

(E) Question not attempted

Who was the first President of India?

(A) Dr. Bhimrao Ambedkar

(B) Sardar Vallabh Bhai Patel

(C) Maulana Abul Kalam Azad

(D) Dr. Rajendra Prasad

(E) Question not attempted

The Constituent Assembly held its first session meeting on:-
(A) December9, 1946 (B) November 19, 1946

(C) November9, 1946 (D) December 19, 1946

(E) Question not attempted

Would the a«lztion in good faith provision be applicable if a
PIO unknowmgb'l dcclar.cs exempted information? (Choose
the most appropriate option from below)

(A) Protection of the “action in good faith”
applicable to a P1O at all.

No, it only applies to refusal ive in i .
under the “RT1 Ackghins. to give in information
Yes, it applies to any action of an
‘RTI Act’ or any rule there under.
(D) No, it will not be applicable.

(E) Question not attempted

iS not

(B)

(C) y official under the
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et 8, a are aet # @A w3
©) Wia=mRmmd
(D) ﬁa&i—:mmmﬁwtﬂwﬁ.umﬁm
(E)  ryafa w
ﬁmmﬁm&mﬂmﬂ#{ﬁ?t%ﬁam%
mw‘%ﬁ&mmmmﬁﬁﬁa?fﬁ
FUT: I A g ¥ 6 ek ) e 3 e 2, e
ST & R IToH T 3w w9 @ T Fvar T A
qRuTTd;

I o amed & 6 g 3= i & qres Tay
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T T

13k 11 3 AR &

IR IIRTA ARG

I 1@ fifRad

(D) ¥F_AnHffkas

(E) =

ﬁﬁqwnﬁ.wm%WIWHWﬁaa}ma

ﬁamwﬁqﬁmm%mwﬁﬁaﬁ%aﬂq

o awon ffea /5

HUT: T 79 G YV Ao e an R 10% S3T 7

fala forr @)

I wﬁz’iﬁwﬁrﬁmﬁﬁuazmwﬁl
I quﬁﬁwitﬂmﬁmmw@m
(A) 13Rn3AFARas

(B)
©)

©) Faa1dfifad
(D) I 1@ Pk -
(E) siyafaus P
ﬂ%@mmmma}mﬁa‘tnﬁa%ﬁam%
mnﬁhﬁﬁﬁaﬁ:mmmﬁﬁﬁaéﬁ
m:ﬁmst’aﬁzwmmmmn

gruTTg:

L B X R e givar svema w18 4

I. ST TR de A wm i T Y

(A) 13113 fAifkg §

TR AR 2

¥ 1 A Ak

(D) ¥Faa 1A fifead

(E) qafayy
ﬁwmaﬂtmmaﬁlaﬂmﬁqwasﬂw‘tﬂz
mmm&ﬁiﬁﬂqﬁwtmwl
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After the enactment of the ‘RTI Act, 2005’ what is th,
Status of the ‘Freedom of Information Act, 20027 ( Chogse
the most appropriate option from below) .

(A) The Central Government has advised the State
Government to implement it.

It cxists and to the extent the ‘RTI Act, 2005
contradicts, it will supersede the latter.

It has been repealed.

It will become operative as soon as the Centra
Government makes rules under it.

(E) " Question not attcmpted

Below is a statement followed by two assumptions. Base(
only on the statement, decide which of the assumptions s,
arc implicit in the Statement.

Statement: When people ask who painted your home. you
know that your home is excellently painted.

(B)

©
(D)

Assumptions:
L People want you to tell them the criteria for excellent
painting.

I, People do not ask about your painter if the painting of
your home is not good.
Both [ and II are implicit
Neither I nor II is implicit
Only I is implicit
(D) OnlylIlis implicit
(E)  Question not attempted
In the question given below, a statement is followed by two
assumptions numbered I and II. Based on the statement and
following assumptions, decide which of the assumptions is/
are implicit.
Statement: A bys agency has decided to increase the
passenger fare by 10% after the board meeting.
Assumptions:
L. The demand for the scats will fall drastically.
Il.  Other bus agencies will also hike their fares.
(A) BothIand Il are implicit
(B) Neither I nor I is implicit
(C) Onlylis implicit
(D) Onlyllis implicit
(E) Question not attempted
Below is a statement followed by two assumptions. Based
only on the statement, decide which of the assumptions is/
are implicit in the statement.
Statement: I cannot use intemet at location X.
Assumptions:
Internet facility is not available at
location X.
I These days the internet is not working properly.
(A) BothIandII are implicit
(B) Neither I nor I is implicit
(C) Onlylis implicit
(D) Onlyllis implicit
(E)  Question not attempted
Given below is one statement followed by two arguments |
and II. You have to decide Whether a particular argument is
strong or not,
Statement: Should every girl have self-defence training”
Arguments:
L. No. They will turn masculine.
I Yes. It would give them the confidence to counter
their perpetrators effectively.
Both I and Il are s
Neither I nor | js strong
Only argument | is strong
Only argument Il is strong
Question not attempted

(A)
(B)
©)

(A)
(B)
©)
(D)
(E)
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Given below is one statement followed by two argumcnts'l
and II. You have to decide whether a particular argument 15
strong or not,

Statement: Should the ban on poaching tigers be lifted”
Arguments:

I Ycs. The poachers are losing their livelihood.

1I.  Yes. The tigers are dangerous animals and could be a
threat to humans.

Both [ and I are strong

Ncither | nor I is strong

Only argument [ is strong

(D) Only argument Il is strong

(E) Question not attempted

You arc given a statement followed by two arguments | and

1. Decide whether a particular argument is strong or not.

Statement: Should the captain of the football team be

replaced by a experienced player for the upcoming world

cup series due in three years?

Arguments:

L. Yes. The current captain is nearing retirement and a
new captain nceds to be nurtured for future.

II.  Yes. The current captain has a partisan attitude in the

team selection procedure.

Both I and II are strong

Neither I nor II is strong

Only argument I is strong

(D) Only argument II is strong

(E)  Question not attempted

In the following question, there are two statements (a) and
(b) followed by two conclusions I and IL. You have to
consider the statements to be true even if they seem to be at
variance from commonly known facts. You have to decide
which of the given conclusions, if any, follow from the
given statements.

Statement:

a.  All who are punctual, succeed in life.

b.  Sheetal has always respected time.

Conclusions:

L Sheetal is a successful person.

Il.  Sheetal is an entrepreneur.

(A) Either 1 or II follows

(B) Both I and I1 follow

(C) Only conclusion I follows

(D) Only conclusion Il follows

(E) Question not attempted

In the question given below, there is a statement followed
by two conclusions 1 and II. Assume everything in the
statement to be true, then decide which of the conclusi
follow the statement beyond reasonable doubt o
Sg@mt: The Chief Minister of a state asked three of hi
ministers to either submit their resignations by the eveni .
or face disciplinary action. —
immediately.

Conclusions:

| The remaining one would resign by the evening

Il.  The Chief Minister wj S
against him. will ake disciplinary action

(A)
(B)
(C)

(A)
(B)
(C)

(A) Either I or Il follows
(B) Both I and Il follow
(C) Only conclusion | follows
(D) Only conclusion 1| follows
(E)  Question not attempted
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In this question, a statement is followed by a set of
conclusions. Carefully assess which of the conclusion(s)
logically follow(s) from the statement and choose the
correct option, ,

Statement: Kriti learns dance from the Hindustani Dance
Academy. She is a well mannered girl.

Conclusions:

I. - Besides the fact that she learns dance, another trait of
Kcriti is her nice behaviour with everyone.

People who learn dance are bound to be well behaved
Neither I nor Il follows

Only II follows

Both I and II follow

Only I follows

Question not attempted

IL.
(A)
(B)
©)
(D)
(E)
In the question given below, there is a statement followed
by three courses of action L, [Tand IM. Assuming everything
given in the statement as true; decide which of the suggested
course of action logically follow(s).

Statement: There is a significant increase in lung related
ailments in the city due to sévere smog.

Courses of Action: ]

I Public must be encouraged to use public transport.

II.  Hospitals should be informed about the situation and
asked to remain prepared to handle large inflow of
patients. -

A delegation of health officials should visit the
President of the country to intimate about the situation.
Only II and III follow (B) Only II follows

Only I and II follow (D) Only I and HI follow
Question not attempted

ITL

A)
©
(E)

In the question given below, there is a statement followed
by two courses of action I and I1. Assuming the information
given in the statement as u’ué;gt{iecide which of the suggested
course(s) of action logically fallow(s).

Statement: If the retired senigr police officers are invited to
deliberate on security arrangements during the convocation
ceremony of a very reputed university, it would really be of
great help.

Courses of Action: 149

. The management should seek permission of the
professors of the university before calling retired
police personnels.

The proctoral team should involve experienced
people in beefing up Qqsecuuty of'the university.
Either I or 11 follows ( B) Both I and II follow
Only I follows (D) Only Il follows
Question not attempted

1L

(A)
©)
(E)
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In the question given below, there is a statement followed
by two courses of action I and II. Assuming everything
given in the statement as true, decide which of the suggested
course (s) of action logically follow(s).

Statement: There was a significant rise in head injury
rclated deaths among two whecler riders.

Courses of Action:

L The traffic police should impose hefty fines for not
wearing helmet while riding two wheeler.

Two wheelers should be banned on main roads.
Either I or Il follows (B) Both I and II follow

(C) Only I follows (D) Only II follows

(E) Question not attempted

Find the missing term in the given series:

289, 262, 235, 2, 181, 154, 127

IL.
(A)

(A) 201 (B) 208
(© 200 (D) 207
(E) Question not attempted

Where was the Rising Rajasthan Global Investment
Summit-2024 organised? (Choose the most appropriate
option from below)

(A) Jaisalmer (B) Jaipur
(C) Jodhpur (D) Udaipur
(E)  Question not attempted

“ Gagan Shakti-2024 ™ exercise was conducted by the
Indian Air Force at which place of Rajasthan?

(A) Alwar (B) Barmer
(C) Jodhpur (D) Pokhran
(E)  Question not attempted

Who among the following is the only Indian skipper, men or
women, to have led India to two world cup cricket finals in
2005 and 20172

(A) Mithali Raj (B) Harmanpreet Kaur

(C) Yuvraj Singh (D) M. S. Dhoni

(E)  Question not attempted

Which scheme was launched by Ministry of Women and
Child Development to promote gender equality and increase
sex ratio?

(A) Pradhan Mantri Garib Kalyan Yojana

(B) PM Shree Yojana

(C) Mission Indradhanush

(D) Beti Bachao Beti Padhao Yojana

(E)  Question not attempted

During the burning of a candle:-

(A) Neither physical nor chemical change occurs

(B) Both physical and chemical changes occur

(C)  Only physical change occurs

(D)  Only chemical change occurs

(E)  Question not attempted

The elements which tend to form anions by gaining electrons
are known as:-

(A) Malleable elements  (B) Dyctile elements
(C) Metals (D) Non-metals

(E)  Question not attempted

Which of the following is_\gn example of amphoteric oxide?

(A) CrOy (B) PbO

(€) CO, (D) sio,

(E) Question not attempted i
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If the position of an object is at infinity, its image formed by

a convex mirror will be:-
(A) At infinity

~(B) Between the pole and the focus of the mirror

(C) Atthe focus behind the mirror
(D) At the pole of the mirror
(E)  Question not attempted

The character which does not express itself in F; generation

is called:-
(A) Dominant character (B) Gcnoty.pe
(C) Allelomorph (D) Recessive character

(E)  Question not attempted

Which of the following is not an organ in the hmm

digestive system? (Choose the most appropriate option

from below)

(A) Rectum (B) Trachea

(C) Pharynx (D) Esophagus

(E) Question not attempted

Which of the following statements is NOT correct about

laterite soil in Rajasthan?

(A) It looks red due to the presence of Iron.

(B) This soil is found in Dungarpur, central and southern
part of Udaipur.

(C) Itis formed by the crystalline and metamorphic rocks.

(D) This soil contains enough quantity of nitrogen,
phosphorus and humus.

(E) Question not attempted

Which one of the following trees is known as the

‘Kalpvriksha of Thar’?
(A) Neem (B) Khejadi
(C) Date Paim (D) Babool

(E)  Question not attempted

Which of the following is the highest peak of Rajasthan?
(A) Guru Shikhar (B) Taragarh

(©) Dilwara (D) Mount Abu

(E) Question not attempted

The largest inland salt water lake of India is in Rajasthan.
Which one of the following is it?

(A) Lunkaransar (B) Pachpadra

(C) Sambhar (D) Didwana

(E) Question not attempted

According to the 2011 census, which district in Rajasthan is
the most literate?

(A) Jhunjhunu (B) Sikar

(C) lJalore (D) Kota

(E)  Question not attempted

Under which Project was the National Highway No.-8
upgraded to 6 lanes from Jaipur to Ajmer?

(A) Golden Quadrilateral

(B) State Highway

(©) North South Corridor

(D) East West Carridor

(E) Question not attempted

In 2023-24, the number of working days guaranteed under

the “I.ndira Gandhi Shahari Rojgar Guarantee Scheme”
were increased to: (Choose the most appropriate option

(A) 140 working days (B) 160 working days
©) 110 working days (D) 125 working days
(E)  Question not attempted
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Which of the following breeds of cow is known as the
“Kamdhenu of Rajasthan™

(A) Nagon (B)
(C) Tharparkar (D)
(E)  Question not attempted
Which of the following i< an initiative taken by the Rajasthan
Agriculture Department for women farmers’ empowerment?
1. Provision of training for women farmers for
dissemination of agricultural technology to fellow
women farmers.

Incentive to girls pursuing agricultural education.
Distribution of seed mini-kits to women farmers on
price.

Provision of tractors to all women farmers in each
Gram Panchayat of Rajasthan.

Choose the most appropriate option from below:

(A) Both 3 and 4 are correct.

(B) Both | and 4 are correct.

(C) Both I and 2 are correct.

(D) All1, 2,3 and 4 are correct.

(E) Question not attempted

Which of the following is a premier institute which imparts
training and undertakes research on rural development in
India?

(A) Rural Institute of Development

(B) National Institute of Rural Development and
Panchayati Raj

National Rural Development Organisation

(D) National Rural Institute

(E) Question not attempted

Calcite deposits are found in which place in Rajasthan?
(Choose the most appropriate option from below)

(A) Dholpur (B) Alwar

(C) Sirohi (D) Bharatpur

(E) Question not attempted

Amongst the following pair of words, find the one which is
different from the others:

(A) Sheep-Wool (B)
(C) Cow-Milk (D)
(E) Question not attempted
The numbers given below are alike in a certain manner
except one. Choose the odd one out.

(A) 108 (B) 133

(C) 57 (D) 114

(E) Question not attempted

Find the pair which is different from the other three.

(A) Tiger-Carnivore (B) Bird-Chirp

(C) Camel-Tall (D) Turtle-Fast

(E) Question not attempted

The words given below are alike in some manner except
one, spot the odd one out.

(A) Peach (B)
(C) Banana (D)
(E) Question not attempted

If in a certain code language, ‘PENTAGON’ is written as
‘DQSOFBMP’ and *‘BOUTIQUE’ is written as
*NCSVPIDV’, how would ‘BEAUTIFY" be written in the
same code language?

(A) DCTBHUXG (B) CDTBHUXY

(C) CDTBUHXG (D) DCBTHUGX

(E) Question not attempted

Malawi
Rathi

2.
3.

4.

)

Bird-Fly
Hen-Egg

Potato

Fig
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If in a code language ‘PRISON’ is wntten as ‘RPKQQL".
then how would ‘CRACKS’ be written in the same coq,

languagc?

(A) EPCAMQ (B) EPACQM
(C) ATYEIU (D) EPCASK
(E)  Question not attempted

In a certain code language, “ARGENTINA® IS wri.tten as
‘By#71$=1B", how would ‘ENGINE’ be written in that
code language?

(A) 2'=#17 (B) #!7='#
(©) 17#=21 (D) ?1#=17
(E) Question not attempted

If “AMPLE’ is coded as ‘47" and ‘SAMPLE’ is coded as
‘66’, then how will ‘AMPLIFY’ be coded?

A) 83 (B) 82
) 113 (D) 75
(E) Question not attempted

If ‘RIPE’ is coded as 8295, “NATO"’ is coded as 6347 and
‘PANTHER? is coded as 9364158, what will be the code for
‘PRINTER’?

(A) 8924685 (B) 9846285

(C) 9826458 (D) 8926458

(E) Question not attempted

Introducing a woman to his wife, Raj said, “Her mother is
the wife of my mother’s father’. What is the relation of Raj
with the woman’s father?

(A) Son B) Nephew
(C) Cousin (Paternal) (D) Grandson (Maternal)
(E) Question not attempted

Surendra said to Ajay, “That girl playing badminton is the
grand-daughter of my mother’s father-in-law who had only
one son and no daughter.” How is the girl related to
Surendra?

(A) Niece (B) Wife

(C) Sister (D) Daughter

(E) Question not attempted

The beneficiaries of the “Indira Gandhi Urban Credit Card
Scheme” are:

(A) Street vendors in urban areas of Rajasthan

(B) People working as house-help in urban areas of
Rajasthan §

Women working in corporate offices in Rajasthan
(D) Blue-collared bank employees in Rajasthan

(E) Question not attempted

According to the Economie Review (2023-24), as per the
second advance estimates, the per capita income at current
prices for the year 2023-24 is estimated to be:-

(A) ?1,67964 (B) ¥1,79,080

(€) 1,76,240 (D) T1,50,653

(E)  Question not attempte

Who appoints the Prime Minister of India? (Choose the
most appropriate option from below)

(A) Lok Sabha (B) Citizens of India

(C) Parliament (D) President

(E) Question not attempted
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Who administers the oath of office to the President of India
before he enters office?

(A) Chicf Justice of India (B) Prime Minister

(C) Speaker (D) Vice President of India
(E) Question not attempted

In whom is the executive power of State vested?

(A) Chief Justice of Supreme Court

(B) Governor

(C) Home Minister

(D) Chief Minister

(E) Question not attempted

Which of the following is NOT an essential qualification/

condition for appointment as a Governor?

(A) He must not be a member of either House of
Parliament.

He should be a domicile of the state to which he is
being appointed.

He should be a citizen of India.

He must have completed the age of 35 years.
Question not attempted

(B)

©
(D)
(®) .
Who among the following was the first Chief Secretary of
Rajasthan?

(A) Shri V. Narayan (B) ShriB.G.Rao

(C) Shri S.W. Shiveshkar (D) Shri K. Radhakrishnan
(E) Question not attempted

Which Constitutional Amendment Act facilitated the
appointment of the same person as a Governor for two or
more states?

Ay s B) 7™
© 4* (D) 6"
(E) Question not attempted

Given below are two statements:

Statement I: The Governor appoints only those persons as
ministers who are recommended by the Chief Minister.
Statement I1: Chief Minister allocates and reshuffles the
portfolios among ministers.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(A) Statement [ is correct but Statement Il is incorrect
(B) Statement | is incorrect but Statement 11 is correct
(C) Both Statement | and Statement 11 are correct

(D) Both Statement | and Statement 11 are incorrect

(E) Question not attempted

Who was the first speaker of the Rajasthan Legislative
Assembly?

(A) Ram Kishore Vyas

(B) Narottam Lal Joshi

(C) Poonam Chand Vishnoi

(D) Ram Niwas Mirdha

(E) Question not attempted
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